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Ideals for irreducible component#ﬂ)f Xpar

I = (u® —4u” + 8u® — 8u® +4ut +u® +b—2u+ 1, —u® +4u” — 8u® + 8u® — 4u? —u® + a4 2u — 2,
u® — 5ud + 120" — 16u8 + 120° — 3u* —u® — u? + 3u — 1)
I = (wPa+u? +b, —u’a+4u® 4+ +2a — 1, u'® 4+ 20 +u® —u” +2u® + 50 + 2u? — 4u — 3u Fu+1)
Y = (—9u® + 29u® — 200" — 81uS + 207u® — 123u* — 256> + 576u” + 16b — 472u + 176,
13u” — 43u® + 34u” + 113u’ — 309u® + 217u* + 350u” — 876> + 32a + 776u — 320,
u'® — 5u® + 8u® + 5u” — 39u’ + 55u° + 4u* — 116u® + 168u? — 112u + 32)
I = (u® —2u" — 2u8 + 6u® — 2u" —4u + 50 +b—1, —ub + 2u” 4 2u8 — 6u® + 2u* + 3u® — 4u® 4 a + 2u,
u? —u® —4u” + 4l + 4’ - 5ut +ud + 3u —u— 1)
I = (4u' —5u™® 4 .. +8b — 34, —8u'%a — 62u™ 4 - — 86a — 198, u?° +2u™ 4 - +2u — 1)
IY = (wPa+u? +b, va+a®+u* +a+u—1,u*—u—1)
I¥=(—au+b+a—u+1,a®>—2au—a+u+3, v +u—1)

* 7 irreducible components of dime = 0, with total 98 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIY=(u®—4u"+8u® —8u’ +4u*+u?+b—2u+1, —ud+4u"+-.-

2, u? —5ud +---4+3u—1)

(i) Arc colorings

u® — 4u” + 8ub — 8u® + dut + ud — 2u+2
—u® 4+ 4u” —8ul +8ud —dut —ur+2u—1

w’ —3uS + 5u® — dut + 2ud +u
az = \ —u® + 3u" — 4u® + ud 4+ 2u* — 203 —u? +u
ag = (2u8+7u712u6+10u54u4u3u2+2u1
2u8 — 8u” + 15u8 — 14u® + 5u* + 3u® — u? — 3u+2
w =3 +5ud — At + P Fut+u—1
—u® +4u” — Tub + 6u® — 2ut —u? + 2u
—u® +3u" —4uS b+ 2ut — 20—l 4 u

ud —3u” +5ub —4ub + 2ut +ud 41 )

a7 =
a]p =
ag =

ag =

—u® 4+ 4u” —8ub +8uh —dut — P+ u—1
u — A"+ 8ub —8uP +dut +ud —u —u+1

u3—u2—|—u
a12 =\ —® + 20ut —2ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u” + 18uS — 32u® + 24u* — 12u? + 2u + 15

+a—



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C11 uw® +5u® + 110" 4+ 10u® — w® — 5ut + 9u® + 14u® + 4u — 1
€2, 5, €7 u® 4 3u® 4+ 7u” 4 10u8 + 11u° + 9ut + 5u’ + 2u® — 1
C12
€3,C4,C8 u® — 5u® + 1207 — 160’ + 120° — 3u* —u® —w? +3u—1
C10
Cg, Coy W+ b+ 11+t + 11+ T w1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c11 y® — 3y8 + 19y — 5495 + 167y° — 225y* + 233y> — 13492 + 44y — 1
C2,Cs5, Ct y9 + 5y8 + 11y7 + 10y6 _ y5 _ 5y4 4 9y3 4 14y2 +4y _ 1
C12
€3, ¢4, C8 y? — 8+ 8y +20y° — 3yt + 3507 — 132 + Ty — 1
€10
C6, Co y° 4 Ty® 4 36y" + 107y% + 195¢° + 237y* + 131y° — 2592 + 15y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape

uw = 1.000250 4 0.7251811
a = —1.000710 + 0.6537841 0.91788 4- 5.428371 11.84517 — 4.009611
b= 0.948795 — 0.3092531

uw = 1.000250 — 0.7251811
a = —1.000710 — 0.6537841 0.91788 — 5.428371 11.84517 4 4.009611
b= 0.948795 + 0.3092531

u = 0.546415 4 1.1086001
a = —0.230267 — 0.3359097 | —9.16918 — 1.976991 1.47834 + 1.391491
b= 10.309218 — 1.2450701

u = 0.546415 — 1.1086001
a = —0.230267 4 0.3359097 | —9.16918 + 1.976991 1.47834 — 1.391491
b= 10.309218 + 1.2450701

u = —0.519685 + 0.3889141
a= 1137270 — 0.2308631 | —2.04430 — 1.720351 4.21443 + 4.653941
b= —0.160625 + 0.8913681

u = —0.519685 — 0.3889141
a= 1137270+ 0.2308631 | —2.04430 + 1.720351 4.21443 — 4.653941
b= —0.160625 — 0.8913681

u= 1.26544 + 0.92224]
a = —1.55365 + 0.079131 —4.8606 + 16.82431 6.88008 — 9.577411
b= 0.600380 + 1.2328501

u= 1.265644 — 0.92224]

a = —1.55365 — 0.079131 —4.8606 — 16.82431 6.88008 + 9.577411
b= 0.600380 — 1.2328501

u= 0415171

a= 1.29473 0.703597 14.1640

b= —0.395535




II. I¥ = (u*a+u?+b, —u’a+4u’+---+2a—1, u'®+2u° +---+u+1)

(i) Arc colorings

a7 =
ayp =

—ua — u? —+ au

wa—u+--+a—1
au

ag =
ag =
wa—ud+--+a—1
a2 = \u® +u” —u® + 3ut + 2u® — 3u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 11u° + 12u® — 8u” — 19u + 32u® + 32u* — 25u3 — 59u? + 4u + 39



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,11 u®® + 8u + -+ — 512u + 1024
2,65, €7 w0+ 6u'? + -+ 192u + 32
C12
€3, €4, 8 (u® 420 4+ u® —u” + 2u® + 5u® + 2ut — 4uP — 3u? +u+ 1)?
€10
Cg, Co u?® 420 . — 130 + 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1, v + 8y + ... + 655360y + 1048576
G T v +8y" + - — 512y + 1024
C12
€3, C4, 8 (y"° — 207 +9y® — 13y" + 28y° — 33y° + 36y* — 34y° + 21° — Ty + 1)°
€10
6, Co y?0 4+ 249" o — 26y 4+ 1




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.697487 4 0.8932201
a = —0.662772 — 0.5752201
b= 0.821731 + 0.2410961

—4.56796 — 1.728271

5.99377 + 2.100961

u = —0.697487 4 0.8932201

a= 0.0120261 4 0.07471581

= 0.222000 + 1.2842701

—4.56796 — 1.728271

5.99377 + 2.100961

u = —0.697487 — 0.8932201
a = —0.662772 4 0.5752201
b= 0.821731 — 0.2410967

—4.56796 4 1.728271

5.99377 — 2.100961

u = —0.697487 — 0.8932201

a= 0.0120261 — 0.07471581

b= 0.222000 — 1.2842707

—4.56796 4 1.728271

5.99377 — 2.100961

= —0.693459 + 0.1938711
= 1.50091 — 0.642771
—0.935824 + 0.9573951

2.81596 — 6.195671

19.0021 + 9.79941

—0.693459 + 0.1938711
= —3.12443 + 0.883171
0.704293 — 0.9627321

2.81596 — 6.195671

19.0021 + 9.79941

= —0.693459 — 0.1938711
1.50091 + 0.642771
—0.935824 — 0.9573951

2.81596 + 6.195671

19.0021 — 9.79941

—0.693459 — 0.1938711
—3.12443 — 0.883171
0.704293 + 0.9627321

2.81596 + 6.195671

19.0021 — 9.79941

0.862296 + 0.9480821
—1.67900 + 0.413331
0.570373 + 1.1744001

—7.29651 4 6.882381

4.01797 — 5.837051

0.862296 + 0.9480821
—0.166644 + 0.0780951
0.257113 — 1.3504501

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

—7.29651 4 6.882381

4.01797 — 5.837051




Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= 0.862296 — 0.9480821
—1.67900 — 0.413331
0.570373 — 1.1744001

—7.29651 — 6.882381

4.01797 + 5.837051

0.862296 — 0.9480821
= —0.166644 — 0.0780951
= 0.257113 + 1.3504501

—7.29651 — 6.882381

4.01797 + 5.837051

= 0.663837 + 0.1519941
= 1.58914 4 0.486691
= —0.982955 — 0.7257141

3.48993 + 0.663651

16.4607 — 8.15181

= 0.663837 + 0.1519941
= —1.75895 + 2.141121
0.748997 — 0.7409311

3.48993 + 0.663651

16.4607 — 8.15181

0.663837 — 0.1519941
1.58914 — 0.486691
—0.982955 4 0.7257141

3.48993 — 0.663651

16.4607 + 8.15181

0.663837 — 0.1519941
= —1.75895 — 2.141121
= 0.748997 4 0.7409311

3.48993 — 0.663651

16.4607 + 8.15181

= —1.135190 + 0.826360.1
= —1.031390 — 0.5132551
= 0.981958 + 0.2520221

—1.84362 — 11.115707

9.52549 4 6.918941

= —1.135190 + 0.826360.1
= —1.67888 — 0.107171
= 0.612314 — 1.2087601

—1.84362 — 11.115707

9.52549 4 6.918941

= —1.135190 — 0.8263601
= —1.031390 + 0.5132551
= 0.981958 — 0.2520221

—1.84362 4 11.115707

9.52549 — 6.9189471

= —1.135190 — 0.8263601
= —1.67888 + 0.107171
= 0.612314 4 1.2087601

> Q@ €|l & €|l & €| Q& €| Q2 &) Q@ &)l Q@ €|l & €|l & &> & &
I

—1.84362 4 11.115707

9.52549 — 6.9189471
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III. 1% = (—9u® + 29u® + .- + 16b + 176, 13u® — 43u® 4 - - 4 32a —
320, u'® — 5u® 4 ... — 112u + 32)

(i) Arc colorings

0
ai = \u
1
a4 = —u?
—qu9+§u8+--~—%{u+10
as = Eug—%u8+~ +%u—11
U
ain =\ —ud +u
—%u9+ 133,8 | .. _ 511u+50
az = u? 381u8+~--+73u—26
— 2w+ Ful 4 —Bu+ 2
ae = %ugf%u8+~~~+?’2—3u76
—0.812500u” + 2.68750u® + - - - — 41.5000u + 14.5000
ar = %ug—%u8+---+%u—34
— 2w+ Tl 4 — 28y 24
ay = u® — BB 4o+ T3u — 26
1.81250u? — 6.06250u® + - - - + 100.250u — 34.5000
ag = —%u9+12—3u8+~-~—¥u+38
—Eut+ SuT e+ Tu— 3
as = \Lud— Sud ... —Ju+ Iy

—1.18750u® + 4.06250u® + - - - — 67.2500u + 23.5000
a2 = u® — 28 o 12y — 22

(ii) Obstruction class = —1

(iii) Cusp Shapes
= —12u® + 42u® — 3207 — 110u® + 302u® — 200u* — 35613 + 854u® — 716w + 262
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,11 (u® + 3u* + 4u® +u? —u —1)?
C2,Cs5,Ct (u5_u4+2u3_u2+u_1)2
C12
€3, €4, 8 u'® = 5u® 4 — 112u + 32
€10
Cg, Coy u® — 2¢° + Tu® — 1207 + 28u°® — 30u® + 33ut — 120 + TuZ + 2u + 1

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c11 (v° —y* +8y° = 3y> + 3y — 1)°
C2,Cs5,C7 (y5 + 3y4 +4y3 + y2 —y— 1)2
C12
€3,C4,C8 Y0 —9y° + .. — 1792y + 1024
€10
Cg, Cy 0+ 10y + -+ 10y + 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/=1C8S) Cusp shape
0.741441 + 0.6450021
1.071590 — 0.5121391 0.132640 11.03771 4+ 0.1

= —0.766826

= 0.741441 — 0.6450021

= 1.071590 + 0.5121391 0.132640 11.03771 4+ 0.1

= —0.766826

= 1.46105 4 0.058721
= —1.46066 — 0.893501
= 0.339110 + 0.8223751

4.27660 + 3.061161

12.9698 — 8.86131

= 1.46105 — 0.058721
= —1.46066 + 0.893501
0.339110 — 0.8223751

4.27660 — 3.061161

12.9698 + 8.86131

1.27770 + 0.760721
1.64111 — 0.085191
—0.455697 — 1.2001501

—6.81032 + 8.801671

4.51137 — 6.997171

1.27770 — 0.760721
= 1.64111 4 0.085191
= —0.455697 + 1.2001501

—6.81032 — 8.801671

4.51137 +6.997171

= 0.68721 4 1.382611
0.400210 + 0.0116251
= —0.455697 + 1.2001501

—6.81032 — 8.801671

4.51137 +6.997171

0.68721 — 1.382611
0.400210 — 0.0116251
—0.455697 — 1.2001501

—6.81032 + 8.801671

4.51137 — 6.997171

—1.66741 + 0.399571
—0.902252 — 0.0794811
0.339110 — 0.8223751

4.27660 — 3.061161

12.9698 + 8.86131

—1.66741 — 0.399571
= —0.902252 + 0.0794811
= 0.339110 + 0.8223751

> Q& €|l & €| & €| Q& €| 2 & Q@ 8| 2 €|l Q& €|l & €| & &
I

4.27660 4 3.061161

12.9698 — 8.86131
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IV.
IP=@w—2u"+---4+b—-1, —u¥+2u"+---+a+2u, v’ —ud+.-- —u—1)

(i) Arc colorings

u® — 2u” — 2u + 6u® — 2u* — 3u® + 4u? —2u)

—2u® 4+ 3u” + Tub — 13u® — 2ut + 144 — 1002 —u+4
az = ud —u” — 4ub + 5ud + 2u* — 6ud + 5u? +u — 2
ag = (2u8+3u7+6u61Ou52u4+9u37u22u+3
2u8 — 4u” — 5ulb + 14u® — ut — 13w + 9u +u —4
—2u® +3u” +5ub — 9ud + Tud — T2 —u+3
—u® 4+ 2u” + 3ub — 8ud + 8ud — Hu? + 2
u® —u” — 4ub + 5ud 4+ 2ut — 6ud + Bul +u—2

3ud — 5u” — 9ub + 18u® + 2u* — 17u3 + 12u? + 2u — 5)

a7 =
ayp =

u? —2
—ut +ud 4+ 2u —u
u8+2u7+2u66u5+2u4+3u34u2+u1>

ag =

ag = \ 48 —2u" —2ub +6u® —2u* -3 +5u* —u—1

—ud 4+ u? 4+ 3u — 2
a2 = \u® — 2u* — 2u3 + 4u? —u
(ii) Obstruction class =1

(iii) Cusp Shapes = 4u” — 2u’ — 20u® + 16u* + 20u® — 24u? + 6u + 15

15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,c11 u® — 5u® + 1507 — 30u’ + 43u® — 43u* 4+ 29u® — 10u? + 1
Ca,C7 w4+ u® 4+ 30"+ 208 +5u° + 30t + 50 + 20+ 2u+ 1
c3, Cg w4 4 -5t + 3 —u—1
C4,C10 W+ u® — 4" — S+ 4 5t et -3 —u 1
c5,C12 w —u® + 30" —2u8 +5u° — 3t + 50 — 20+ 2u—1
Co WA+l —ut e -3 —u—1
C9 Wl W et P+ 3 —ut 1

16



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C11 v + 5y + 11y" + 18y° + 39y° + 55yt + 419> — 149% + 20y — 1
G T y? + 5y° + 157 + 30y° + 43y° + 43y* + 29y° + 10y” — 1
C12
€3,C4,C8 y? — 9y® + 32y7 — 56y° + 52y° — 35y* + 31y° — 21y° + Ty — 1
€10
Cg, Co v — B+ 35 + TP+ 9yt — 5y — 137 — By — 1

17



Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u= 0.462033 + 0.7544871
a= 0.078103 — 1.0332301
b= —-0.336796 — 1.1192501

—3.12884 + 6.237801

2.73865 — 7.619131

uw= 0.462033 — 0.7544871
a= 0.078103 + 1.0332301
b= —0.336796 + 1.1192501

—3.12884 — 6.237801

2.73865 + 7.619131

u= 0.782089
a = —0.220949
b= —0.476516

2.80099

14.9720

u = —1.364940 + 0.0656751
a = —1.289310 — 0.5433381
b= 0.635154 + 0.9580551

5.53504 + 5.055651

12.9398 — 5.86231

u = —1.364940 — 0.0656751
a = —1.289310 + 0.5433381
b= 0.635154 — 0.9580551

5.53504 — 5.055651

12.9398 + 5.86231

u = —0.559877 4 0.1794511
a= 2.50809 —0.973791
b= —0.791008 + 0.9788071

2.21345 — 6.064961

3.18848 4 6.104841

u = —0.559877 — 0.1794511
a= 2.50809+ 0.973791
b= —0.791008 — 0.9788071

2.21345 + 6.064961

3.18848 — 6.104841

w= 157174+ 0.245781
a = —1.186410 — 0.2826031
b= 0.230908 + 0.8250791

3.84945 + 2.414461

5.14685 + 1.222631

w= 157174 —0.245781
a = —1.186410 + 0.2826031
b= 0.230908 — 0.8250791

3.84945 — 2.414461

5.14685 — 1.222631
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V. I = (4u® — 5u'8 + ... + 8b — 34, —8u'%a — 62u'® + ... — 86a —
198, u?® 4 2u'® 4 ... 4+ 2u —1)

(i) Arc colorings

0
a0 = \u
1
a4: _u2
( a
ar = \ _1,19 , 5, 18 | . 17
5 U+ gut + U+ g
u
ann =\ —ud +u
(?ulga 1§7u19 +ottat+ T
ag = 1,19 19 4 ,.._9,_7
2 SU a+ zu’ + 50— 3
(;ulga—9u19+~--—ga %
ag = \ _1,19 9,19 4 | 7 11
6 ZuTa— gu + —|—8a—|—8
(gulga 31u19+~-~—37§u—6
a-= |\ _1,19 5,19 | . 3 1
7 3UCa— gu + —|—4a—|—2
(gulga_guw_’_. —a—%
a) = 1,19 5,19 4 . 9, _ 1
1 guw a+ gu + g0 — 3
(2u19a Sutd 4. %a — 1?1
a0 = 19 5,19 | ..., 3, _ 7
9 uva— gu + —|—4a ]
%ulga—?’ulg—k---—i—% _%;
ag = —iu19a+3u19+---+éa+g

2u19a+lu19+--~+1§7a+i
a1o = %u19+§u18++§u_171

(ii) Obstruction class = —1

(iii) Cusp Shapes = —Zu!? — 5u!8 + 1777117 + 22ut6 — 5ul® — %ul‘* + Aly13 4 85012
42—3u11 — 15&”10 + %ug + %us —47u" — 175u8 — 27u® + 140u* + 99u® — 7u2 —17u+11
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,11 (u® + 3u* + 4u® +u? —u —1)3
C2,Cs5,C7 (u5—u4+2u3—u2+u—1)8
C12
C3,C4,C8 (u20+2u19+_..+2u_1)2
€10
€65 Co u'® + 70 + - - -+ 15696u + 9056

20



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1, €11 (y° —yt 4+ 8y — 3% + 3y — 1)8
C2,Cs5,Ct (y5+3y4+4y3+y2_y_1)8
C12
C3,C4,Cg (y20—8y19+-~-—24y+1)2
€10
C6, Co y0 — 1553 + ... — 551370496y + 82011136
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Solutions to I¢

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

1.003740 + 0.2032401
= 0.736760 + 0.2935911
= —0.766826

2.20462 — 1.530581

12.00374 + 4.430651

= 1.003740 + 0.2032401
= 0.07037 4 1.426161
= 0.339110 — 0.8223751

2.20462 — 1.530581

12.00374 + 4.430651

= 1.003740 — 0.2032401
= 0.736760 — 0.2935911
= —0.766826

2.20462 + 1.530581

12.00374 — 4.430651

= 1.003740 — 0.2032401
= 0.07037 — 1.426161
0.339110 + 0.8223751

2.20462 + 1.530581

12.00374 — 4.430651

—0.837472 4 0.1862171
1.62048 + 0.566181
—0.455697 4 1.2001501

—1.26686 — 5.931411

8.74057 + 7.929231

—0.837472 4 0.1862171
= —0.52205 + 2.597531
= 0.339110 — 0.8223751

—1.26686 — 5.931411

8.74057 + 7.929231

= —0.837472 — 0.1862171
1.62048 — 0.566181
= —0.455697 — 1.2001501

—1.26686 + 5.931411

8.74057 — 7.929231

—0.837472 — 0.1862171
—0.52205 — 2.597531
0.339110 + 0.8223751

—1.26686 + 5.931411

8.74057 — 7.929231

0.518290 + 1.0343401
= —0.229000 + 1.1092101
0.339110 + 0.8223751

—1.26686 + 5.931411

8.74057 — 7.929231

0.518290 + 1.0343401
= 0.625942 — 0.2709871
= —0.455697 — 1.2001501

> Q& €|l & €|l & €| Q& €| Q@ €| Q@ & Q& €|l & €|l & €| & &
I

—1.26686 4 5.931411

8.74057 — 7.929231

22



Solutions to I

V=1 (vol + y/=1CS)

Cusp shape

= 0.518290 — 1.0343401
= —0.229000 — 1.1092101
0.339110 — 0.8223751

—1.26686 — 5.931411

8.74057 + 7.929231

0.518290 — 1.0343401
= 0.625942 + 0.2709871
—0.455697 + 1.2001501

—1.26686 — 5.931411

8.74057 + 7.929231

—0.876335 + 0.7591471
0.899822 + 0.1394251
—0.455697 + 1.2001501

—1.26686 — 2.870251

8.74057 — 0.932061

—0.876335 + 0.7591471
0.537367 — 0.4057251
0.339110 + 0.8223751

—1.26686 — 2.870251

8.74057 — 0.932061

—0.876335 — 0.7591471
= 0.899822 — 0.1394251

—1.26686 + 2.870251

8.74057 + 0.932061

—0.876335 — 0.7591471
0.537367 + 0.4057251
0.339110 — 0.8223751

—1.26686 + 2.870251

8.74057 + 0.932061

—0.640737 4+ 1.0104501
0.980178 + 0.5688481
—0.766826

—3.33884 + 4.400831

7.77454 — 3.498591

—0.640737 4+ 1.0104501
0.314549 + 0.0147581
—0.455697 — 1.2001501

—3.33884 + 4.400831

7.77454 — 3.498591

—0.640737 — 1.0104501
0.980178 — 0.5688481
—0.766826

—3.33884 — 4.400831

7.77454 + 3.498591

= —0.640737 — 1.0104501
= 0.314549 — 0.0147581

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b = —0.455697 — 1.2001501
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b = —0.455697 + 1.2001501

—3.33884 — 4.400831

7.77454 + 3.498591
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Solutions to I¢

V=1(vol + y=1C)

Cusp shape

u = —0.626341 + 0.4664061
a= 0.547283 — 0.5049151
b= —0.766826

2.20462 — 1.530581

12.00374 + 4.430651

u = —0.626341 + 0.4664061
a = —1.26438 — 1.855881
b= 0.339110 — 0.8223751

2.20462 — 1.530581

12.00374 + 4.430651

u = —0.626341 — 0.4664061
a= 0.547283 + 0.5049151
b= —0.766826

2.20462 + 1.530581

12.00374 — 4.430651

u = —0.626341 — 0.4664061
a = —1.26438 + 1.855881
b= 0.339110 + 0.8223751

2.20462 + 1.530581

12.00374 — 4.430651

u = —1.086970 + 0.7435641
a= 0.983639 + 0.4695241
b= —0.766826

—3.33884 — 4.400831

7.77454 + 3.498591

u = —1.086970 + 0.7435641
a= 1.56355+ 0.051531
b = —0.455697 + 1.2001501

—3.33884 — 4.400831

7.77454 + 3.498591

u = —1.086970 — 0.7435641
a= 0.983639 — 0.4695241
b= —0.766826

—3.33884 + 4.400831

7.77454 — 3.498591

u = —1.086970 — 0.7435641
a= 1.56355 —0.051531
b = —0.455697 — 1.2001501

—3.33884 4+ 4.400831

7.77454 — 3.498591

u = —1.36679

a = —1.84955 + 0.440221 4.27660 12.9700
b= 0.339110 — 0.8223751

u = —1.36679

a = —1.84955 — 0.440221 4.27660 12.9700

b= 0.339110 + 0.8223751

24



Solutions to I V—=1(vol + /=1CS) Cusp shape
u = 1.030490 4 0.9316211
a= 0.384781 — 0.097424] | —6.81032 4.51137 + 0.1
b = —0.455697 + 1.2001501
u = 1.030490 4 0.9316211
a= 1.62227+ 0.027611 —6.81032 4.51137+ 0.1
b= —0.455697 — 1.2001501
u = 1.030490 — 0.9316211
a= 0.384781 4 0.097424] | —6.81032 451137+ 0.1
b= —0.455697 — 1.200150/
u = 1.030490 — 0.9316211
a= 1.62227 —0.027611 —6.81032 451137+ 0.1

b= —0.455697 + 1.2001501

u= 0.316111 4 0.0468661
a= 210387 —1.971971
b= —0.455697 — 1.2001501

—1.26686 + 2.870251

8.74057 + 0.932061

u= 0.316111 4 0.0468661
a = —6.41754 — 3.253981
b= 0.339110 — 0.8223751

—1.26686 + 2.870251

8.74057 + 0.932061

u= 0.316111 — 0.0468661
a= 2.10387+1.971971
b = —0.455697 + 1.2001501

—1.26686 — 2.870251

8.74057 — 0.932061

u= 0.316111 — 0.0468661
a = —6.41754 4 3.253981
b= 0.339110 + 0.8223751

—1.26686 — 2.870251

8.74057 — 0.932061

1.76524

u =

a = —0.708336 + 0.2639157 4.27660 12.9700
b= 0.339110 — 0.8223751

u= 1.76524

a = —0.708336 — 0.2639157 4.27660 12.9700

b= 0.339110 + 0.8223751
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VL I = (v®!a+u?* 4+ b, v’a+a®*+uv*+a+u—1, ud —u—1)

(i) Arc colorings

2

—u?a —au —u? —2u

au+u2+a—|—u
ag —

au+ul+2a+u+1
a7 = \ —2u2a — au — 2u? — 2u
a; =

wa—au—ui—a+1
ag =

atu—+1

(
(
(
( 2
e (o)
(
(
(
(
(

ag =

w?a —au —u? —a+2u
a1z = —2

(ii) Obstruction class =1

(iii) Cusp Shapes = —5u? + 9u + 13
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C11 ul — 4u® + 8u* —9ud + 8u? —du+1
Ca,C7 wt2ut — P+ 202+ 1
c3,C8 (u® —u — 1)2
c4, C10 (u3 —u—i—l)2
c5,C12 w2t +ud 202+ 1
Ce6 W’ —3ut +4u? —3u+1
Co W —u® —3ut + 4 +3u+1

27



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C11 Yo + 8yt + 17y +8y° +1
€2,C5,C7 6 5 4 3 2
Yo +4y’ +8y" +9y° +8y° +4y+1
C12
C3,C4,Cs8 (y3_2y2+y_1)2
€10
6, Co Y —TyS + 17yt — 16y + 102 —y +1

28



(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape

u = —0.662359 + 0.5622807
a= 0.751796 + 0.2827581 | —1.45094 — 3.770831 6.42596 + 8.784821
b= —0.425318 + 1.2701901

u = —0.662359 + 0.5622801
—1.87436 + 0.462101 —1.45094 — 3.770831 6.42596 4 8.784821
b= —-0.237041 — 0.7079111

u = —0.662359 — 0.5622801
a= 0.751796 — 0.2827581 | —1.45094 + 3.770831 6.42596 — 8.784821
b= —0.425318 — 1.2701901

u = —0.662359 — 0.5622801
a = —1.87436 — 0.462101 —1.45094 + 3.770831 6.42596 — 8.784821
—0.237041 4 0.7079111

1.32472
—1.37744 + 0.426921 6.19175 16.1480
0.662359 — 0.7491871

1.32472
= —1.37744 — 0.426921 6.19175 16.1480
= 0.662359 + 0.7491871

b
U
a
b
U
a
b
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VIL. I =(—au+b+a—u+1,a*—2au—a+u+3, u*+u—1)

(i) Arc colorings

0
aio = \u
1
a4 = \u—1
a
as = \au—a—+u—1
u
ail = \—-u+1
—2au —u—+3
az = au—+u—1
au+a—u—2
ae = —a—+u
2au — 3
ar = \ —3au+a—2u+ 2
—au + 2
ar = \au+u—1
a—u—1
a9 = \au—a—+2u—1
au+a—u—1
ag = —au

(ii) Obstruction class =1

(iii) Cusp Shapes = 5u + 11

30



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs,C
15, %6 ut —ud U —u+1
C11,C12
4 2
C2,C7,C9 W+ et Fu+1
2 2
cs, Cs (" +u—1)
2 2
C4,C10 (u —Uu— 1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

C1,C2,C5
Cg, C7,C9 y4+y3+y2+y+1

C11,C12

C3,C4,C8 (y2_3y+1)2
C10
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ VvV—1(vol + /—1CS) Cusp shape

= 0.618034
1.11803 + 1.538841 3.28987 14.0900
= —0.809017 — 0.5877851

= 0.618034
= 1.11803 — 1.538841 3.28987 14.0900
= —0.809017 + 0.5877851

= —1.118030 + 0.3632711 3.28987 2.90980
= 0.309017 — 0.9510571

= —1.61803
= —1.118030 — 0.3632711 3.28987 2.90980

U
a
b
U
a
b
u = —1.61803
a
b
]
a
b= 0.309017 + 0.9510571
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VIII. u-Polynomials

Crossings u-Polynomials at each crossing

(u* —u® +u? —u+1)(u® + 3u? + 40 +u? —u—1)1°

c1,C11 . (u6 — 4u® + 8u* — 9u + 8u? —4u+1)

(u® — 5u® + 150" — 30u® + 43u° — 43u* + 29u3 — 10u® + 1)
(4 5u® 4 11" + 10u8 — u® — 5ut 4+ 9ud + 14u? + 4u — 1)
(u? + 8u' + - — 5120 + 1024)

(u* + u® + u? +u+1)(u —ut 420 —u? u—1)1°

co,C7 (ub + 2u* —u® + 2u® +1)
(u® +u® + 3u” + 2uC 4+ 5u’ 4 3ut 4 5ud 4 2u® + 2u + 1)
(u® 4 3u® + Tu” 4+ 10u® + 11u® + 9u* + 5u® + 2u® — 1)
(w4 6u? + - 1920 + 32)
W +u—12d® —u—1)?

cs. s (u” = 5u® + 120" — 16u® + 120° — 3u® — u® — u® + 3u — 1)
S —u® — 4"+ 4uC 4+ 4u® — sut 4w 4+ 3u® —u — 1)
(' = 5u® - = 112u + 32)
(u' + 20 + u® — u” 4 2u8 + 5ud + 2u* — 4ud — 3u® +u+1)2
(P 2ut? o 2u—1)2
(u? —u— 1) —u+1)?

c1 1o u975u + 120" — 16u® + 12u° — 3u® — u® — u® + 3u — 1)

u? + T — 4 4 4u® 4 5ut U - 3u? —u 1)

(
(
(u10—5u + - —112u + 32)
(' 200+ u® = 200 4 5u® + 2ut — 40 - 3u? Fu+1)?
-

w0+ 20 o 2u— 1)2

fowd o —u 1) -t 20— u? - 1)

Cs5,C12 c(ub + 2ut + w4 207 4+ 1)

S(u® —u® + 3u” — 2uC + 5u’ — 3ut 4 5ud — 2u® + 2u — 1)
(w4 3u® + Tu” + 1068 + 116° + 9ut + 5 + 20 — 1)
(w4 6u' + -+ 192u + 32)

(u

(ut —u® +u® —u+1)(u® +u® — 3u” +4u® —3u+1)
6 W +ud b —ut e - 3w —u—1)

S+ ud A’ b 1t e T 1)

(' =200 + Tu® — 1207 4 28u® — 30u® + 33ut — 1203 + Tu® + 2u + 1)
(¢

u?® + 2u19 4= 130 4+ 1) (u” + 7u + -+ 15696u 4 9056)

(u® + u® + u? +u—|—1)(u6—u5—3u4+4u2+3u+1)
€9 (= u® b et 43 3 —u 1)

S+ ud 4’ b 1 4t 1 4 Te? - 1)
(u10—2u9+7u8—12u7+28u6730u5+33u4—12u3+7u2+2u+1)
- (u?

u?® 420t = 136 + 1) (w0 4+ Tu - 4 156961 4 9056)




IX. Riley Polynomials

Crossings Riley Polynomials at each crossing
W+ + P +y+ D0 -yt + 8y -3y + 3y — 1)
c1,C11 (Y8 + 8yt + 17y 4+ 8% 4 1)
(y? = 3y® +19y7 — 5498 + 167y° — 225" + 233y° — 134y + 44y — 1)
(y? + 5% + 11y" + 18y° + 39y° + 55yt + 41y° — 14y% 4+ 20y — 1)
(y* + 8y + - - - 4+ 655360y + 1048576)
W+ + " +y+ )@ +3y + 4+ -y — 1)
2,65, €7 (S +4y® + 8yt + 9y + 8y + Ay + 1)
12 (1 4+ 5y 11y +10y° —y° — 5yt + 93 4+ 1497 + 4y — 1)
(y® + 5y® + 1597 + 30y° + 43y° + 43y* 4+ 2993 + 10y% — 1)
~(y*° 4 8y" + -+ — 512y + 1024)
(v* =3y +1)°(y —2y2+y—1)2
€3,C4,C8 Sy —9y® + 3297 — 56y° + 529° — 35y* + 31y — 21y% 4+ Ty — 1)
€10 (y” = +8y" +20y° = 3y + 35y — 13y + 7y — 1)
(Y0 —9y° 4 - — 1792y + 1024)
. (y10 — 2% + 9y — 13y + 28¢5 — 33y° + 36y* — 3443 + 2192 — Ty + 1)?
(y?° —8y" + -+ — 24y + 1)?
W+t + 2+ y+ D)% —7y° + 17yt — 16y° + 1052 —y + 1)
C6, Cy y? — % 4+ 395 + 795 + 9yt —5y3 — 13y% — 5y — 1)

(4
(y°
(
-

+ 7% 4 36y" + 107y% + 195y° + 237y* + 131y° — 25y + 15y — 1)
y'0 +10y° + - +10y+1)(y20+24y19+---—26y+1)
y*0 — 1543 + ... — 551370496y + 82011136)
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